HRIEEB S (FE6RALR)
(Rf+RBERA)

SfM7THE4A4H

BINTHREER ,
N B OIE BHOR

SIk%  BEHBES
MAA @ ) ® =
AT 6 FEBBEHRINEREIZONT

T BESBEBEEERORMCIBATIRFEILREIEDHAEICEIE, K
DLBY 6 EEREFBHRIIREEZRBRELET,




Bl A
SMOEE HBEHRINIBEE

= Ik 4 B RHBE
B AR & I E=

1 I A
I’ H I A % w =
BEEDR (A) . 480,000 M |E3:#7 : 240,000/, T3#A : 240, 000/
2 X H (k&%)
®" H A X H (EH) #| " &
REER 40,400 M |BrfTEREERE. Fy M=/ E—HASR
WO R o m|
2 B R 0 H
BEHERE 0 M
R #® B 0 M
BEHEAR "~ 90,000 M |HBAREZEE
= B ® 91,120 M |EE®E:E - A ¥ —F v bk ﬁyu?fic fts
A B’ 0 M
Z Dt DRE _ 0 M
=) # (B) 221,520

T HEMCIX, E-2ARERRTHIZ L,

3 % #® (BEH

% GOEE 258,480 M | (A) — (B)




X I AR sRmM Y/

BBED R IR

HReiigs:
B o=
S AR (&E& R B 3 )
AR :“} g woow L PN m&);# FELim s Vi th §i th —_— e
PFRELe ke WATE >
1/10 BRI A 1105 240,000
10/10 BTSN TIN5 240,000
1/14 1 | MSEBFRSE Skt R7T.14-15 BERIERIE kst 100% 7,400 7,400
2/14 2 MWL Bk Fob A E—KIIS R 100% 33,000 33,000
321 |3 |SECHBALE FMBBER 4 A, KA., B 100% 90,000 90,000
2/28 | 4 [FEste NAGRIESHINE  R6.4J1~R7.2)1 5 50% 29,841 29,841
5 |UEste HOVR R6.8BJI~RT.2A % 25% 12,600 12,600
3/24 6 [UeFER aE'—(t  R6.4J1~R7.3)1 % 100%| 13,003 43,003
6/3 7 |EE V—RIE FUSMRY—R1 50% 5,676 5,676
ot 480,000 221,520 40,100 90,000 91,120




